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A Water vapour cooling down and turning into a liquid B. Ice warming up and turning into a liquid
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The given sheet of paper is folded to form a cube.
Which alphabet will appear on the face opposite to
the face having alphabet X?

w

VIX

Y
T|Z
A Z B. V
LS D. T

Which of the following options will complete the given
series?
Cl4, G16, K19, 023, 828, ?

A. V34 B. W34
C. X35 D. W35

Select a figure from the options in which the given
figure is exactly embedded as one of its parts.

~ PO . (04

& ¢ N AAVA
— s

Some letters are given which are numbered as 1, 2, 3,
4, 5 and 6. Select the combination of numbers from
the options so that the letters are arranged accordingly
to form a meaningful English word.

N E H G C A

1 2 3 4 5 6

3,2 ,6, 1,4 B. 53,6142
53 3,5,2,1,4,6

A. 4
C 6, ;2 D. ’ 12: !45

-o \c

L L

A square transparent sheet with a pattern and a dotted
line on it is given. Select a figure from the options as
to how the pattern would appear when the transparent
sheet is folded along the dotted line.

N

In a garden, Maya runs 50 m towards West. She then
turns left and runs 20 m and then turns left again and
runs 100 m. Finally, she turns left and runs 20 m. How
far is she now from the starting point?

A. 60m B. 40m
C. 50m D. 30m

Which of the following Venn diagrams best represents
the relationship amongst, ‘Animals, Cars and Dogs™?

AOO @O
. D » 09

Select the correct mirror image of the given figure.

|

=

Mirror

N
C. F ATM |:: D. WLV

There is a certain relationship between the pairs
of numbers on the either side of : : . Identify the
relationship between the given pair of numbers and
find the missing number.

Ta3T::8:1%
A. 40 B. 42
C. 47 D. 4

10.

Select a figure from the options which will complete
the given figure matrix.

@ > ®
<g|| A\ | [>
O(<m| 2

® o,
C-@ D.®

. —
m SQF' NSO | Class-6 | Set-A| Level 1

CamScanner


https://v3.camscanner.com/user/download

11.

SCIENCE

Rahul uses a ticker tape to measure speed of a remote
control car as shown in the given figure. The ticker

tape timer is set to a frequency of 50 Hz.
—_—

(o0

.f............

— 12cm ———————>|
Average speed of the car between points X and Y is

A. 30 cm/s B. 60 cm/s
C. 40 cm/s D. 20 cm/s
12. Consider three pendulums as shown in the given
figure. Length of each pendulum is 50 cm. Mass of
pendulum X is 2 kg, pendulum Y is 8 kg and that
of pendulum Z is 16 kg. If their corresponding time
periods are T, T, and T, then (neglect air resistance)
A T2¥ 2T
8 T,>L>7T,
C T,=TI,=T,
D. TX = ﬂ- = Zz— X Y &
2 4
13. Read the given statements and select the option that
correctly identifies them as true (T) and false (F) ones.
(i)  Oceanic crust is less dense compared to continental
crust.
(ii) There are three planets in solar system that does
not have natural satellites.
(ili) Only two planets of solar system rotate East to
West while other planets of solar system rotates
West to East.
(iv) The only reason of occurrence of seasons in a year
is the spinning of the Earth.
(i) (i) (iii) (iv)
A. F F T F
B. T T F T
C. T F T T
D. F T T T
14. A clock X is placed in front of a mirror M as shown
in the given figure. Time in the mirror image of X is
A, 3:25
B. 8:35
C. 7:3%
D. 6:35 X M
15,

™ NSO | Class-6 | Set-A | Level 1 | S@F

An archer shoots arrows using a bow. The bow is
made of a string that stretches when it is pulled and
recoils when the arrow is released as shown in the

given figures. The respective energy changes during the
process, when the bow is stretched and released, then
arrow flies and reaches to the highest position R, are

2

A. Kinetic energy > Elastic potential energy > Heat
energy

B.  Elastic potential energy - Kinetic energy >
Gravitational potential energy

C.  Gravitational potential energy > Elastic potential
energy > Kinetic energy

D.  Elastic potential energy — Gravitational potential
energy — Kinetic energy

Four lamps P, Q, R and S are @* V

placed around a mirror M, as P o
shown in the given figure.

The card X prevents the observer Z “@’
O from seeing the lamps directly. é R
Which of the following statements o Z
are incorrect? é @
4
L & s
Observer O can see the S ¥

image of R,
II.  Observer O can see the image of S.
III.  Observer O cannot see the image of P.
IV. Observer O can see the image of Q.
A. TandIV only B. I and III only
C. Il and IV only D. 1L, III and IV only

Which of the following statements are correct?

(i)  The Sun is mostly made up of hydrogen gas which
is continuously changing to helium by nuclear
fusion reactions.

(i) The light which we get on the Earth comes from
corona layer of the Sun. o

(iii) Mars is sometimes called the red planet as it 1s
closest to the Sun among all other planets and
hence get highest energy from the Sun.

(iv) The nuclear fusion reactions take place in core of
the Sun.

A. (i), (iii) and (iv) only B. (i) and (iv) only

C. (i) and (iv) only D. (i), (ii) and (iv) only
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Arpita suspends four bars of different materials from
a pillar and bring the north pole of a bar magnet near
part P and Q of each bar one by one as shown in the
given figure. Then she records the observations, which
are given below,

Pillar

G )

IZ‘EI ["."T’l (7 I@J [7]e]

v

Bar | Magnet and part P | Magnet and part @
1 Repel Attract
11 Nothing happens Nothing happens
11 Attract Repel
v Attract Attract

Which one of the following sets correctly represents
bars I, II, III and IV?

Bar 1 Bar 11 Bar 111 Bar 1V
A. Magnet Wooden bar Magnet Iron bar
B. Magnet Iron bar Magnet  Glass bar
C. Stainless Magnet Iron bar ~ Magnet
steel bar
D. Magnet Iron bar Glass bar  Copper bar

19.

There is no friction involved in the pulley and in the
surface of the inclined plane as shown in the given
figure. Then, which of the following statement(s)
is/are correct?

(i) Y will slide down ifitis heavier

than X.

(ii) Y will slide up if X is heavier
than Y.

(iii) Ycanslide up evenif Xis lighter
than Y.

(iv) X will slide up even if X is heavier than Y.
A. (i), (ii) and (iii) only

B. (i) and (ii) only

C. (ii) only

D. (i), (iii) and (iv) only

20.

—o

An electric circuit is given below.

Disposable
spoon

Study the circuit and explain why all the bulbs did
not light up when the switch (S) was closed?

21.

DOow>

I.  The metal tip of bulb B, was not connected.

1. Bulb B, and the alloy metal key closed the electric
circuit.

11, The plastic disposable spoon was not an electrical
conductor.

IV. Bulbs B, and B, were incorrectly positioned in the

electric circuit.

I only

111 only

I, Il and IV only

I, Il and 1V only

Which of the following substances has definite volume,

but no definite shape?

A. Carbon dioxide

B. Apple juice

C. Silver foil

D. Ceramic cup
22. Classify the substances given in the following box

as transparent, translucent and opaque.

Rubber ball Newspaper Butter paper
(i) (ii) (1)
Leather bag Magnifying glass  Fresh air
(iv) (v) (vi)
Transparent Translucent Opaque

A. (iii), (v) and (vi) (i1) (i) and (iv)

B. (v)and (vi) (iii) (i). (i) and (iv)

C. (vi) (iii) and (v) (i), (11) and (iv)

D. (vi) (ii) and (iii) (i), (iv) and (v)
23. Rohit, a science teacher has drawn the diagrams

showing the arrangement of particles in two different

states of water.

| Il
Observe the following conversions carefully and select
the correct option,
X
1 (_T.._) Il

A. l-St_)lid. Y-Condensation

B.  I-Liquid, X-Freezing

C. Il-Liquid, Y-Evaporation

D.  1I-Gas, o X-Evaporation
24, Classify the given substances into elements and

compounds and select the correct option.

I. Gold II. Glucose
III. Oxygen IV. Iron
V.  Water
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Element Compound

I I ]
A LIV, V 11, I A.  Solid Bad conductors  Liquid
B. IV LI, v of heat
c. LIV ILv B. Edible Non-metallic Non-inflammable
D. ILV LI 1V C. Edible Metallic Inflammable
- e PR D. Solid -i
25. Study the following Venn diagram and select the Eifo;:;:la::onduc!ors R
option that correctly identifies X, ¥ and Z. e bt e
Dudlaite velaene 29. Two liquids P and Q are such that P is miscible,

while Q is immiscible with water. P and Q can be

respectively
A.  Glycerine and coconut oil

Compizacible V‘v Definite B.  Vinegar and lemon juice
' shape C.  Chalk powder and sand

D. Mustard oil and milk.
MR ol i i B

X Y o z 30. Select the incorrect match.
A. Water vapours garbgn c}l:oxnde ]l\?;lkrod Vitamin/Mineral D eficiency di symptom
t
B, 8 by gl e g : A. VitaminK - Excessive bleeding after
C. Ceramic tile  Marble Oxygen e
o D. Nitrogen Syrup Book B. Calcium - Weak bones and teeth
26. Match column I with column II and select the correct C. V"a"?'“ A - Goitre _
option from the given codes. D.  Fluorine —  Dental caries
Column I Column 1I 31. The given options show a list of different foods eaten
(Material) (Characteristics) by four students during their lunch time. Who among
(i) Polythene (a) Translucent them has eaten a balanced diet?
(i) Gold coin (b) Floats on water A.  Ruhi : Chapati, rice and pulses
(iii) Sugar powder (c) Easily moulded B. Navya : Chapati and pulses
(iv) Feather (d) Soluble in water C.  Deepti : Fruit salad and yogurt
(v) Frosted glass (e) Sinks in water D.  Shruti : Chapati, ghee, pulses, vegetables, yogurt
A, (i)Hc), (ii)~(e), (iti)~(d), (iv)~(b), (v)~(a) and fruit salad
o (!)—(a), (1‘1.)—(c), (m)—(b) (I.VHC)’ (V)-d) 32. Refer to the given groups (i)- (iii). Each group contains
& (!Hb)’ ('|'1)—(a), (111 +d), (.1 VHE), (VHe) an odd member. Identify the odd member in each
= ,D' (D(€), (D)), (iii)-(e), (iv}-(b), () group and select the correct option.
27. Which of the following statements are incorrect? (i) Calcium, Potassium, lodine, Sodium .
. ii itami itami itamin D, Vitamin
: . - tin (1) Vitamin A, Vitamin B, Vitamin D,
I Fat is removed from milk by using a separating (iii) Oil, Tofu, Butter, Ghev
A : e ) (i) (iii)
II. A mixture cont.ail?mg. two miscible liquids can be A Calcium Vitamin D Bulter
separated by distillation process. ' B.  Todine Vitamin B Tofu
II. Threshing is used to separate husk from g.rams. C. Sodium Vitamin E il
which involves beating the bundles of grains to B Nl Vidienln A Ghee
remove the husk. il .
IV. " Amixture of sugar powder and naphthalene powder 33. Identify the type of root system shown in the given
can be separated by sieving. figure and select the plant that has the same type of
A. Tand II only B. Il and III only root system.

B 7_C. Lland IVonly D. I, IL Il and IV

28. Three groups of materials are given below :

I : salt, sugar, flour
II : Copper, gold, silver
I : Petrol, kerosene, paper

[dentify the property common to each group and select A. Mustard B. i‘/‘faf:?a“e
the correct option. C. Barley D. ca
-~ NSO | Class-g | Set-A| Level 1| SUF e——— —— e — a ;

|-
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34.

Read the given paragraph and select the option that
correctly fills in the blanks,

In humans, there are __(i) _ pairs of ribs. First

(ii) _ pairs of ribs are directly attached to _(iii) _ in
the front hence are called true ribs. Next three pairs
are false ribs and the last __(iv)  pairs of ribs are
called floating ribs.

0] (ii) (iif) (iv)
A. Fourteen Seven Clavicle  Four
B. Twelve Seven Sternum  Two
C. Twelve Six Sternum  Three
D. Fourteen Eight Scapula Three

35.

Read the given passage and select the correct option
regarding P and Q.

Changes in our surroundings that make us respond or
react to them are called P. The ability of an organism
to react to a change in the environment is called Q.

P o
A. Tropism Locomotion
B. Stimuli Movement
C. Tropism Acclimatisation
D. Stimuli Responsiveness

36.

Refer to the given classification chart and select the
option that correctly identifies (i), (ii) and (iii).

| Plants on the basis of their life span ]

Y

Annual r Biennial l Perenmal I
(il) (m)
A. Chlckpea Carrot Neem
B. Guava Mango Pea
C. Apple Turnip Maize
D. Mustard Wheat Paddy

ar.

Select the option that correctly completes the given
analogies.

(i) Anther: P :: Ovary : Style

(ii) Prop roots : Q :: Parasitic roots : Dodder

(iii) Leaf tendril : Pea :: Stem tendril : R

P Q R
A. Filament Dabhlia Gloriosa
B. Gynoecium  Orchid Ivy
C. Stigma Sugarcane  Money plant

D. Filament Banyan Grapevine

38.

—O-

Refer to the given diagram. Identify W-Z and select
the correct statement rcgarding them.

39,

A. Process W increases with the increase ip
temperature.

B. Process X results in recharging of groundwater,

C. Process Y is responsible for reduction in size of

camphor. _
D. Process Z results in melting of the polar ice caps,

Study the given flow chart.
Does it support | Yes
buming?_J_’@

No
Y
Is it given Yes
out during -——b@
respiration?

Which of the given letters represents nitrogen gas?

A P B. 0
C. R D. §

40,

Unscramble the given letters to get the name of a
phenomenon that helps polar bear to remain unnoticed
from its preys and predators.

A. AFGMLCUOAE

B. TEAIANIVSTO

C. TAOHRNEBINT

D. NIGMTIARO

41. Refer to the given analogy to identify X and select
the correct option.
| Ball and socket joint : Shoulder : : X : Elbow
A. Pivot joint
B. Hinge joint
C. Gliding joint
D. Immovable joint
42. Select the odd one out,
A. Measles
B. Typhoid
C. Beriberi
D. Plague
43. Which among the following is/are the characteristics

of fruits/seeds dispersed by water?

I.  Covered by thick fibrous coat

II.  Have hooks or spines over the surface
IIl. Have wings or hair on them

[V. Have spongy and porous parts

A. Tonly

B. Il and IIT only

C. IandIII only

D. TandIV only

CamScanner
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44, Given below are the names of few rocks. 45,

Sharanya observed New Moon on 20*

Wh March, 20XX.
Obsidian, Pumice, Shale, Conglomerate, Gneiss, at shape of Moon will she observe on 31" March
Quartzite of the same year?

How many among them are igneous rocks? A O B. ‘)
A 2

46. Fill in the blanks by selecting an appropriate option. (iv) Bulb of circuit (I) will be the dimmest.
A mixture contains different substances P, Q and R. )] (ii) (iii) (iv)
P is a solid that is soluble in water. Particles of Q are A T T F F
small and are insoluble in water. On the other hand, B. T F F T
R is a liquid which is immiscible in water. Substance C. F T F F
Q is separated from the mixture by method __x D. F T T T
Substance P is separated from the mixture by method
_y . Substance R is separated from the mixture 48. Refer to the given figure showing different layers of
by method _z . atmosphere. Identify the layers W, X, ¥ and Z and select
& y z the incorrect statement regarding them.
A. Filtration Handpicking Distillation
B. Evaporation Filtration Distillation
C. Filtration Evaporation  Separating funnel
D. Hand picking Distillation Evaporation

47. Four circuits are connected as shown in the given
figures. Here all the bulbs and the batteries (ideal) are
identical.

A,

L 1L
Q

Hpipn

A. Layer Z is responsible for weather changes that

H take place on Earth, while layer Y protects us from
. -. o the ultraviolet rays of the Sun.
-+H-+F B. Air temperature decreases with altitude in layer
Z, while air temperature gradually increases with
Read the given statements and select the option that altitude in layer Y.
correctly identifies them as true (T) and false (F) ones. C. Layer X is the hottest layer of the atmosphere,
() Bulb of circuit (T) would light up the brightest. while layer W is the coldest. :
(ii) Bulb of circuit (IT) would light up the brightest. D. Ozone layers present in layer ¥, while L".“'
(iii) Bulbs of circuits (I1T) and (IV) will be equally Earth Orbit satellites orbit around the Earth in

bright. layer W.

p . === —n
NSO | Class-6 | Set-A [ Level 1 | SOF se— 2
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49. Refer to the given Venn diagram and sele 50 Arun categorised living organisms on the basis of their
statement regarding A and }. habitat. He made three groups of three organisms each
but placed one wrong member in each group, Identify

the wrong member and select the correct option,

¢t the incorrect

Group | : Toucan, Gorilla, Reindeer

Group 11 : Polar bear, Rattlesnake, Arctic fox

Group 111 : Camel, Kangaroo rat, Red-eyed tree frog
A.  Reindeer of group I should be replaced with

macaw.
B. Rattlesnake of group Il should be interchanged

with camel of group IIL.
C. Kangaroo rat of group III should be interchanged

with toucan of group I.
D. Gorilla of group I should be interchanged with

arctic fox of group II.

Water
soluble

I at soluble \itamim

A\ could be a vitamin that helps in clotting of
blood whereas ¥ could be a vitamin that helps in
formation of blood.

B.  Deficiency of X could cause night blindness
whereas deficiency of Y could cause pellagra.

C. X could be obtained from fish liver oil whereas ¥
could be obtained from citrus fruits.

D. None of these
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